3 (Sem-3) CHM

2019

CHEMISTRY
( General )

Full Marks : 40
Time : 2 hours

The figures in the margin indicate full marks
Jor the questions

Answer either in English or in Assamese

1. Answer the following as directed : 1x5=5
et fRarcared ot SpiR B for

(a) Arrange the following ions in the
decreasing order of size :

Tore fRAl UEPRE SRR SRl SHsEve
ST :

02—’ Mg2+, N—3 A13+

(p) What do you mean by limiting molar
conductance?

e AR AR e & @2
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(c)

(d)

(e

2. (a)

(b)
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(2)

Ammonia solution of alkali metal is blue
in colour, why?

FR 49T 99 7w 79 oy e = 2
What is meant by catenation?
*feregad A & =2

Banana bond in diborane is bond.
( Fill in the blank )

TR @O @A AR W WA |
( 1 3% T[qa=9 )

Give the structure of the following xenon
compounds. Also indicate the type of
hybridization of xenon in each of the
compounds. Why has XeO3z PYyT amidal
structure? 3+2=5

woTe a1 (oA CTAPTRE oA T L1 AN
PTRS 4R (o R S S
XeO,3 WS ¥ Frfasn = ?

XeF,, XeFg, XeOF4

Or / %<1

What are carbides? Give one method

to prepare graphite intercalation
compound, silicon carbide and nickel
carbide. 2+3=5
s R 2 i SARE (@, RFR FRIZS
T et TS SCAOIE o AN T |

( Continued )

(3)
3. Answer any two of the following : 5x2=10
wore frarcas R @ PR Tes o
(a) (i Explain with reasons: 1x2=2
IR i A I
1. At room temperature, HyO is
liquid but HyS is gas.
gRe T¥ere Hy0 gaml o HyS
: TR |

2. Oxygen exists as O, while
sulphur exists as Sg.

‘
| e B e 0, WIS
i e &S (X’ Sg
| (i) Write short notes on : 1%x2=3
o Coret feran
1. Borazine
IRA
2. Silicones
fRfere '
(b) (i) Discuss the structure and bonding
of diborane. 3
TRIER N I TR I Al
911
( Turn Over)
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(c)

(4)

(i) Write down the names of the
following complexes by IUPAC
system : 1ax4=2

oo fia wfbe (WA AW IUPAC
TafSS fora :
[CoN3(NH3)51SO4
Ba[BrF,],
Na3[Ag(S,03),]

4. Li[AlH,]
What is electronegativity? What are the
factors which affect the electronegativity
of an element? Discuss the trend of
electronegativity among the elements in
a period and in a group. 1+2+2=8
Rpgegrer 2 & B | @ GBR
RO 8IS FOR T ? GBI
i efe (P Ryrerer R
ST =, S 4 |

ol S

4. Answer any two of the following : 5x2=10
were fHEeaRs R e o e foren
(a) Name two important ores of Ni. How is Ni

20A/78

extracted from its important ore? Give
two properties of Ni. 1+3+1=5
Ao 151 70 SeRIT W 11 | g3 SRR

o[ fiee @t g o9 =W 2 fReees ol

oof SeAY 790

( Continued )

(b)

(c)
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(5)

Or/ gl
(i) Discuss about Werner’s theory of

coordination compounds. 3
TR TER QR SEOR T
HTCAA 91

(i) Predict the molecular formula of
the carbonyls of Ni with the help of )

EAN rule.
EAN fme SmEe e’ FHFER

e AT T 9 |
(i) Define essential element and trace

element. Mention the biological

roles of molybdenum and selenium.
1+2=3

— e i LD S AR
four | WRRCET SIE (AR [eiE
IS \gﬁﬂ & Sy o9 |

(i) What is toxicity? Mention the
toxicity that may happen due to Pb
and Hg. 1+1=2
el 7 Pb S® He¥ IR XTI [
Rreel Sy 391 |

Define cis- and trans-isomers. Give the
geometrical isomerism for the coordi-

nation entity [CrNH3),Clafen)]”. 2+3=5
Proma wE  Geomeene ke fan
[Cr(NH3),Clyen)]* ¢ 5wl 5ol e

STCRIACRRo! A |
( Turn Over)




(6 ) ‘ (7))

S. Answer any two of the following : 5x2=10 NaOH, NaCl ¥ BaCl,3¥ }“;na
were AT R m@ﬁwm: I @ 248-1x10'4Sm2 mol'l,
. 3 . 2 _1
(a) (i Discuss the determination of 126-5x10~4 Sm* mol e
transport number of NO3 ion in 280-0x10~* sm? mol™! T
AgNOj3 by Hittorf’s method. 3 Ba (OH),3 Ay ¥ TH 511 3411
%3 “mfS3 AgNO;S NO3 ™ '
TAE A “rafs e %41 | (i) Discuss the construction and the
) use of a glass electrode. .3
(i) How would you account for the 1 I6 FEFE WA AE I (S
highest mobility of H* ions? 2 : SreeToal 4 |

HY =1 1% AL IR 3 9

(b) Discuss conductometric titration for— * k%
(i) strong acid with a strong base;

(i) weak acid with a strong base.
2Y%2+2%=5

ARIRSIAS Sge AT F9—
() B wFF Y TR 79
(i) T TS O TR 79 |

(¢ () A, for NaOH, NaCl and BaCl,

are 248-1x10~* Sm? mol !,
126:5x10™* Sm2 mol ! and
280-0x10™* Sm2 mol~! respectively.
Calculate A, for Ba(OH),- 9
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